E:X_PD'(‘_;Q@ = 7QCB)

y EQA -l—l'f’ sum of >

~

(1130 +Yb+FC. . Sa+3b-60_and Ya-2b-Y

APy =Y, X249 xy -+ 3y aat)- Ax8 10

- f
’ . ‘ A i \\‘\
- v _}{ 5 -+ .' *
v ‘.

—4 _F i

XN\

il

o2-np tbc |

X o ad L B2 rax A and XD —3x4.1 .,
dab4be -252  and -2 c)-302 +ah

UDAYF 3%, Yx xB+F - and ~P+5x ax>

——

D ¥ Yoty -—'\‘/"’“ Xy A3y and B -Xy YEx

——

”_,So)u-}i on ¢

1
|- Ba + L{b-lr}c.-}-(}B@c\—?bJ

|
|

)+ (Ma-2b =Ye)

|

o+ Ybh+F -Sot Ah-Bc +4a - h ~Y¢

|
L

-

36-80_4Ya +Yb43h-6cAMp—ab-Yr

2a+ Yo ~So 4+ Fh-Qb +Ab Qb +2c -10¢
Zo.~Ho +5b-¢ -

Ao+ 5h ~3C

|

A
A
|



A Ay ;ﬂﬁ.x.ﬁ‘a\?'\ _-_\;Sy_.')ic.'ix__ﬂﬂiy:}.'iy,,)

= A Ay A= xA 4 By 353 43X =10xyU\A

= A XA K2R \/9\4(3\((’\-‘4\/“ +‘Xv+9\xv~ﬂﬂ Xy

Ax’* £ %A —\/9\ 32 YR AXy +9~X¥—1—K

= B  (-y2+ ?v'él )}va »Joxv LI

- ng‘+6v‘* -?x\, = _
PR 7.‘__,_ },J(:,-\\_h £y, .‘.", ‘\/-  REAYL'S

X"‘ ’x+1+ (=5x*243%-2) +2x3 ,Bx-m

=3k ] 55 o R ARy g e e e

>3 S5 43X’ - X tax -3y

2X% £ BB X XX D

)

YR58 Yy ax

X2 ~A¢

->@\~.Qx

i\l

fo@ b-wbc) +( aab%%f_ana')—}(%
=02~ ab+bhet Qabt ke —20%

W

Cull oo A =5 a2 4kl LAk — ‘H)Libubg\
- b]as\ "'&GL +3Clb "'Ob

o *A&Mc\q
=02 ¥ 9nh - or

342 22%) 4 Cipex® iﬁiﬁ@_ﬁg&,ﬁ)

B ‘hu? = xR £ =904+ Gy R

e Use B A

t& ~20+Y 4 By — 3y

~ Yo~

{ ~
= 9\ -\
)

Ao Ax—3

EL s




e
i -

1
— ¢ R A

s .__,.____J

& 3‘_"5'“ Bl doh
| ARy =X *G\ﬁ),@ ) ,
: rﬁ_J%xithyﬁ R _ap‘kay,:r.eg@/ﬁ—“/iﬁ

'r;‘hf = Uy 4 5%y sXylDpss

i T e

Ay ey =Ty R T

_Im_Sx-&l‘ImHyg\ .

GL-17 xa——axv+33ya QVQ-HLSx?
Uxy/
L il -)(a '-ZX\; 4-.3\/9 ﬂ-é’jxa 5 S’—WX\mnrJ ’ﬁw
i AN —2 + 3
| (\dﬂi@—a}?‘«!—a L3202 +h rma ab+%'3—5a+ (ﬁ\
21 ‘\-\i
1=l(= 12530y 223y + (=Y O B+ Zaey ) +{130P A ]

e —1?x2~9.xv+13)\, '~°lva+ e +7ae_\f+ ’l?a(’g'.p i

Yoty L -

L |2 a 1‘5@*133{ r"la&\) ~‘1ae\z +?ae;\/+af3w3+_)&
i | q\P\ 7 ‘i

- R0y 1742 I PP ﬁ__

1

(x> -3y +3\r°\+2?) -‘r@»x *—S\r2 “g"r"%(v) Y (4 xv-\ﬁlx%)z
»Na) |

_ A 3xv+?va +;? +%v<3-5\/3 -3 +L1xv —aw +:1x9"w

~ Qe

L %3 3% 4 AP 3y =6xy+ txy x> ’-%v’*—\—\rgviwq j
A F-3- v

m

Lbi'xQ—EX\fh\/&—‘r?,

i

(R-ab o0 (12063t A 4+ 248

Ll | | R




=0

=03 Apdkock o b -Jbet AHP=Sa 443w | iy

S PR REETIVE E L TR
— 34 \0’3,\4 19 = g R J-.
Q. EVQ]UO\;}E’ 5 e rdai il

2o (otah) (il(sa=3y=(x4) mw@

(9x 4+ Z\) = Mv—':&x') m)x;b- %—5)

(B (=130 (M*-‘?—‘y) i om0y 3o

A.&PU:}M 5 v ' - - / 3 COLAT ; 5 T

i~ ?m"C&-\'a\{) | |
e -a -2k =3A0-db e
- Ap—~b) | %}

W (B33 ~(xet Y :
= Su=Ay-X -y
= WZ"LI\,’: “1(?("\’{)

Tl (Spr15b-(3b-Fa)

= o X15h-3b+7n

- S0 + 2o +915h-3 1

- 150+ 12b

T

(gx-*?y)"@y—_?x) | oS- Ac - =
= ¥x +Fux +7\/~\1\/ 1 ul | i

— '\’l)( —\-?)\’/

2-CYa-5)

27 Y935 2F+5-Yo.

= 13 =Yoo




LI.X"'GLV+32 Crmm 13\3(—‘c-'4\/ ?&‘7_ .

S- a-—% +Y¢ Gzom Em-'-}br%-:lc* .

~Fx 19y ¥ 172 _Cnomx-v 7

_-' oL - ch] Cnom rxb"gxca »rg.rm +m

- ’125\&+7-\: a2z “Yaes 6V"3L o5

' L AR MPALS ‘:\L‘_\Li

=] (a-Yb-3) (503 b+AC) ﬂ I

| — o-Yh-ac -Sa +3b -ac¢ B L
l ~0-50.=Yb +3b -AC-AC L=y o
= Mo =b Y. At |

i 4|16 +?v»—9\’)2) (4% -6y+32) :

- )P - Llae Y7y Hoy=3 92 —%

. 74 £33y - 9&\1'_7_

-

(50-2b v ac)~(5-6-Yk ~+4c)

~ r—

~ S —2b+dc 9+ 6 b -Ye

- Saxo-Zh ¥ tac-Ye -5

= @g_ —3b “Q\L -4




a |

Tl D nlpuetdytW2) VT
= %=y =2 4 Fxr Ay ~172

el /

T loxa8ky Qy=y=2-T72 | !

fatil) s_%ﬁ*j'l';t-ﬂt.?i’ K .

— OO (abeaed+ o abd) -Bob+ cd=aie-Qbd) o B
—ob-2cd¥doctbdDob —cdtoctqbdn
= ob=20b-2cd ycd +3acy bat Qbd

St Toke —6b +hc o Freom be —Qﬂ?@{ﬂ:,: S
(ji. Ta}{'@ 5X¢6\//—3? prto'h) 3% +Sy-Y> \v*‘“\—
(i) T ke 3 niqg-tr Freo MW
— e 1»- A R VR S R AP «
L (W) T&H@; 7"@\.'\"0&,9‘ pr/nf") [1';4_0_\_3 b ‘\




SADMIN)

i
\ s
-ty ’«\1,*4-" ~ v

- ‘ (*

- _!‘ (f

C’X—’N-a 2\ —’r(R&P --\/ + > } (&-\*\/—1—'7)

- a&;r-‘-\r——fl? +Ax= \/+7-,w_\//--7 NP A R NEEY P!

4
- 4 A ’.,‘
* [ B ’ g € °F 5 e : - i TN
e { -~ rY pos g — ok - T ; "
A . \
i : {

",},Er"r&a@_r}ﬂ—\- NELVEVEALES XY i
:2‘ vy f\/...g =3 \ﬂ_\‘t‘ n
2+ 9)11~:1b'=1'l"c‘ a*nno[ 35 D.(* ~-‘g K:

] oubbacd o-b_g. oot
—_L (‘%JL-—&B‘\-HJ*@E—Q_(D*(fyb:-gj.- '
= —30=0bh+Yr +3p-Ac-ax p¥c - o 0
= =20-013b £ b-Ah4AYeAe =D
= |} - 2o+ 2Ab+ 0
— ¥ .AJ.M@M ~a\,—'z jmm j/{p Al M BM« "'
- ﬂﬂd M—‘-\/ Ry '-ji ' ~

\ ! . R

15 0 B
2 B * 5 b7,
A - - S e -
oy 2 ) - T abal o .




e

A3y 2) A Gty 8D (xBY 2D
“J;"‘BX"""?iz*ifiﬁy:.?g;:?j&a:y{zm i i b
e N e L

l,:‘*??ﬂ‘-g P . v ) S

i .

AMM%L PYIE S -2

s p—
b . F
- o~ - —
B S z 7 7 i " ‘ - |

? X— 9\23 +C><+\/+'7)- %QHY)-%(X—Z)} ]

-/
:X’Q\z ""X"’r\/ 42 - X=Y -t > ~ LAY

N, 2 XAy W h




